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Ordinal numbers I. — IREGULAR

* Ordinal numbers are adjectives (= to be used with nouns) that are created from
regular numbers to express the order.

IREGULAR

= 1St prvni (notice: soft, unisex ending)
= 20d: druhy

= 3rd: tieti (notice: soft, unisex ending)

= 4th: Ctvrty



Ordinal numbers II. — SEMIREGULAR

SEMIREGULAR

—those with -E- (pét, devet, deset, dvacet, tricet, Ctyricet)
—E > A +Y (at the end = ,adjectivisation®)
pét > paty, devét > devaty, deset > desaty

dvacet > dvacaty, tricet > tricaty, Ctyricet > Ctyricaty



Ordinal numbers III. — REGULAR
—others (6,7, 8,11-19)

—just + Y (at the end =, adjectivisation®)

—Sest > Sesty



Expressing date: theory

= Kolikatého je dneska? - Dneska je dvacatého unora.

EXPLANATION.

e to say a date in Czech it is necessary to use a) ordinal number (in genitive case) and
b) month name (also in genitive case).

e The structure looks like: je Sestnactého unora (it is the sixteenth day of February)



Expressing date: whole months’ table

8.
9.

Prvniho ledna.
Druhého unora.
Tretiho bfezna.
Ctvrtého dubna.
Patého kvétna.
Sestého &ervna.
Sedmého Cervence.
Osmeho srpna.

Devatého zari.

10. Desatého fijna.

11. Jedenactého listopadu.

12. Dvanactého prosince.

<+A | -E < leden
<+A < Unor

< +A | -E < bfezen

< +A | -E < duben

< +A | -E < kvéten

< +A | -E < Cerven

< +E | -E < Cervenec
<+A | -E < srpen

= zari

<+A | -E < fijen

< +U < listopad

< +E | -E < prosinec



Expressing date: numbers 20+

Usual way: 21 = 20 + 1 = dvacet jedna > dvacateho prvniho

(two words)

,German way“: 21 =1 + 20 = jednadvacet > jednadvacatého

(one word)



Personal pronouns in accusative
Pronouns are words we use in the place of a full noun.
We have both subject and object pronouns:

ja me

ty té tebe
on + ono ho ného
ona ji ni
my nas

vy vas

oni je ne



